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F(ω) = F[f(x)](ω) = f̂(ω) =
E

2π

∞∫
−∞

f(x) e−iωxdx = A

∞∫
−∞

f(x) e−iωxdx . ���
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��"  	�	�#$ �������� � ����#% ���	��%" 
	�������#% �������������& '��������	� ��������
��	������ A = E/2π = 1/

√
2π ���& ��
�����" ()*� �	��� �#�� 
	�����	 
�� �#�	�� E =

√
2π&

+ ���	��% (," �* ��
	�������� �������� A = 1" �		������������ �������� E = 2π& -������"
��	 ��	
�� � �#������� ��� . �
	���!�����#$ ��	������ ��
	�������� �	 ��� 	� 
���� eiωx
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	�����#
�����	$ x → −x � f(x) → f(−x)&
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f(x) =
1
E

∞∫
−∞

f̂(ω)eiωxdω . �)�

/�	��  	�
�� ��	
	 
��	����	����� ����� ��� ����	 �#���� ��	��# ��$���������#�  	������

Fc(ω) = f̂c(ω) =
E

π

∞∫
0

f(x) cos(ωx)dx �,�

� ����� 
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Fs(ω) = f̂s(ω) =
E

π

∞∫
0

f(x) sin(ωx)dx . �0�

��� ����	$ ��� !�� g(x) ������
��	����	����� ĝ(ω) = ĝc(ω)& /	����� ������
��	����	�����
������	$ ��� !�� h(x) ����	 ����& 1� �� ����	 ���� ����� ������
��	����	����� ������	$
��� !�� h(x)& '���� ������
��	����	����� ������	$ ��� !�� ĥ(ω) = ĥs(ω)&

+ 	���� ������ 
�	���	����� ��� !�� f(x) �	��� �#�� 
�����������  � ����� ����	$
g(x) � ������	$ h(x) ��� !�$� f(x) = g(x) + h(x)" 
��

g(x) =
1
2
[f(x) + f(−x)] � h(x) =

1
2
[f(x) − f(−x)] . �2�
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f̂(ω) =
1
2

[
f̂c(ω) + f̂c(−ω)

]
+ i

1
2

[
−f̂s(ω) + f̂s(−ω)

]
. �5�
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F[f(ax)](ω) =
1
|a|F[f(x)]

(
ω

|a|
)

, �7�

F[f(x+b)](ω) = eiωbF[f(x)](ω) �8�

�
F[ dnf

dxn ](ω) = (iω)nF[f(x)](ω) . �9�

1����!# 
��	����	����$ ����� .���������#% ��� !�$ �	
�� �#�� ��$���#" ��
�����" � (�*&
+ ������$4�� �# �����" �� ��  � � (�*" ��
	���	���� ���������	� ������� E = 2π& +

.�	� ������ 
��	����	����� ����� ����� �� ���% ��� !�$ f ∗ g(x)�

F[f(x)∗g(x)](ω) = F[f(x)](ω) ∗ F[g(x)](ω) . ��:�
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